BF 1£100m FFE

[1#8] (  +0.6 m)

10 4] 2030 1 EH1 (F [)12. 83
2[ 3] 2955 A KEE1 (R 28 m)13.99
30 1] 249)11 J/U K H1 (I F)14.14
4[ 6] 57 M 1 (KR ¥)14. 26
50 7] 219 Pk &KE 1 (k %) 14. 29
6[ 2] 26385 A w1 (B i) 14. 57
70 8] 221 f&B1(F # +)15.91
8[ 5] 307 5F #kih 1 (i =) 16. 09
[3#8] (  +0.5 m)

1[ 5]2001 H & B 4 1 (HappinessAC)12. 73
20 1] 1818 k1 (B & H)12.88
3 4] oty A #1Gu 11 H13.79
AL 7] 105k ®l & 1 (kE % H)13.96
5[0 2] 123%m H =k 1 (& ¥ 11)13.99
6 8] 1650 ¥ e fe 1 (& []) 14. 34
[ 6120118 N O 2L 1 (RA %y AfiR) 718,
[ 31200357 | # B 1 (Bf it A C)RI5
[548] ( +0.8 m)

106] 2171 £ K1 (L ) 12. 96
2[ 2120054 A &1 (N S A A)13.30
3[ 5] 293% £ MK 1(f Fo m)13.35
AL 7] 69°F B 3 b1 Ok ) 13. 46
5[ 1] 205%& Wl H 2&1 (+ H 1 $3)13.46
6[ 4] 151/hE /1 GE X H —)14.25
70 3] 23/l ¥EWES 1T (BE B A)156.17
8[ 8] 2271 BE —1 (9 ¥ = %)16.08
[7#8] (  +1.6 m)

10 5] 303#x M &M 1 (h R)13.53
2[ 4]1009%T [ #x 21 (H K)13.75
3[ 8] 9985 K X FH1 (R + 7 m)13.92
41 6] 139F9 [ & th1 (kA 8 4)13.95
50 3] 1692 A& (&1 (H 4 R)14.34
6[ 1] 15975 3 R 1 ON i) 14. 66

[ 2]

209 = 1

R GE - B

[ 7] 21300 F 4 {1 CGE W5 RS
[948] (  +0.3 m)
1041 1876 L Bl (8 WT)13. 32
20 3] 3K WK1 G 1) 13. 68
30 7] 103Kk £ A K1 (7§ )13. 84
AL 8] 1614/ H M 1 (K i) 15. 06
5[ 5] 25548 JF =1 (F ) 15. 25
6[ 6] 129 #F 51 (A2 K)15.48
[ 2] 24139 BBk 1 (h 1) &R 15
(1148 ( +0.9 m)
10 4] 29185 11 # 1 (7 H)13. 47
2[ 2] 254 KA1 ON 4 15)13.66
3[ 6] 2293 #7F =1 (& £)13.92
40 5] 3BER ML K1 (# ) 14. 09
503] 894 i#1(H % F9)14.24
[ 7] 25175 & & 1 (F H MRS
[ 8] 2474 % BEME 1 (D HI) & 15

(14882 €4 L L—X)

(248 (0.0 m)

1[ 3120025 )i 4 ¥ 1 (HappinessAC)12. 46
2[ 8] 1554 H Wk K1 (Uh H)13.74
3L 6] 127/m ik M — 1 (% fE)13. 94
40 5] 83/ A pkwk1 (B H —)13.97
5[ 2] 3057k & #& A1 (58 %)14. 34
[1] 267K B #1 & WR) R 15
[ 4] 433 & & 1 Ca H FORS
[ 7] 793 = FEth 1 (4% ) Ri5
(448 ( +0.9 m)

105] 7Rk HEE 1 (B &k £)12.92
2[ 2] 14594 B oW )13.74
3[ 7] 18337 I HESL 1 (K ) 13. 82
A0 3] 14777 HEE 1 W A H)13.98
5[ 6] 30176 ft A2 1 (W 9 2 B5)14.25
6 1] 1739 0 i K1 (58 Fl 4)14.83
70 8] 55 H HF1(fp B £)14.97
[ 4] 21/ H fEL1G0H B BRI
(648 (  +0.2 m)

1061 1793k W At & 1 Gor ) 13.03
2[ 3] 39/ FEE L (G - 7H)13.28
3[ 2] 14375 H #IE 1 ( s )13. 34
40 4] 281K & K Fn1 (k: #)13. 51
507] 1M #®E1CE #)14.05
6[ 6] 2TEW)I BE1 G & JiD14.15
70 1] 185 /& =k 1 (7% J5)14.19
[8] 97TKIE BeIE1 (= %) %
[8#8] (  +2.1 m)

103] 157/ A B&E{A1 (4 R)13.12
2[ 8] 107H H B 221 (k= %) 13. 53
3L 4] 117/ B F1 (75%* 2 J5)13.85
41 6110374k W B 1 (& AT % [3)13.93
5[ 2] 133055 H il 1 (K 15)14. 29
6[ 1] 51N H i1 (K 55)14.69
70 5] 3131k % #1 (M WA #)14.88
8[ 7] 239 AEYE 1 (B 2> 22 B)156.12
[1048]) ( +1.1 m)

108] 17# & &1k o ®)13.10
2[ 7] 2594 MK FHBE 1 (K 1E)13. 31
3[ 4] 2451 fm-KEA 1 (f JII PH)13.68
4 5] 131 RALR £ 1 (5 f85)14.13
5[0 6] 119F &5 Fi 42 1 (Fy 2 A ) 15.48
6[ 3] 265/ 37 B oK1 (& H)16. 25
[ 2] 31TAW 2EHi1 (8 ) Ri5
[1248) (  +0.6 m)

10 2] 1839 3 HBmHF1 @& H)13.16
2[ 8] 5/ R HERE1CK #)13.27
3L 7] 63% A dF1 (% H)13. 56
40 3] 3174 R BEML (F #E 1415
505] 1H® #Hk1GhH $)14.96
6[ 6] 299/hHE #&E 1 (E R mH)15.00
[ 4] 283 )1l B E1 G 7 IH RS



+2.2

[13#8]) ( m)

10 7] 309 # & th 1 Gi# £)12.37
2[ 6] 9EH%Z HH1GF J£)13.03
30 4] 2831 oK1 (8 A #)13.09
40 2] Tk # fh1 O > JID13.10
5[ 5] 2014 & BB K1 (= - H £)13.10
6L 8] 19dtE EE1(YSFJH)13.37
70 3] 101 E 7+ M1 (= ) 14. 02
1 3097% #& & th1 (O £)12.

37 +2.2
46 0.0
73 +0.5
83 +0.6
88 +0.5
92 +0.9
96 +0.8
03 +0.2

220020 Jis AT EE T (HappinessAC)12.
32001 H #F B 1 (HappinessAC)12.
4 20305 H FAL1 (R () 12.
5 1818 (i B 31 (H R =)A VA
6 T/ k AW (B ok )12
7 2170 [ g2 oK1 (i W)12.
1793 H A & 1 Gor ) 13.
é’&ﬂ%‘?
-1.3 m)
1[ 3] 309/ & & th1 G )12, 46

2[ 6]2002/5 fbﬂfﬁ 2 1 (HappinessAC)12.50

[14%8) ( +0.8 m)

107] 755246 O — 1 (¥ m)13.19
20 5] 315 H J11 (R $$)13.74
3[ 6] 27113 o B9 1 (B #)13. 71
40 8] 1M5% B £ .01 (B 7 %)13.80
5[ 4] 253/ A& g1 (& (b H)14.07
6[ 3] 33 EH — 1 (F H)14. 27
70 2] 67T FF ®i51 (- 2% 1)15.25

[248])
1[ 2]
2[ 7]
3[ 6]
4[ 4]
5[ 8]
6 1]
70 5]
[ 3]
(4%8]
1[ 5]
2[ 1]
3[ 8]
41 3]
50 7]
6[ 2]
[ 4]

3[ 5] 203WE 1 Z=AH 1 (F [)12.93
40 8] 2174l [l £ K1 (L ) 12. 95
50 1] 1793k H A & 1 CGir ) 13. 08
6 412001 1 & 5% £ 1 (HappinessAC)13.16
7070 Tk A1 (B & £)13.26
8[ 2] 1818 (I BE3F1(H #F H)14.06
BF 2F100m FZE(ISE2 A1 LL—X)
[1#8] (  +2.2 m)

10 1] 1046 &5 1 F2 (F 4)11.88
2[ 4] 2095 F A Al 2 (B fEDS E)12.19
30 8] 197 REER (£ 2 (K #i12.20
4L 2] 15T/ E @ H 2 (& R)12.52
50 5] 3155 51 {h K2 OR #7)12. 64
6[ 71 558 F A2 (ff R H)12.76
70 6] 39 @ M52 (M 75)13. 48
8[ 3] 281%: B Hi 24 2 (k: +)14.10
[3#A] ( +0.4 m)

10 8] 1010 % BE K2 (B ) 11. 69
2[ 2] 1067 & & B2 (E & m12.10
3[ 1] MK\ b2 (4 #)12. 47
41 4] 3017E A 2 A 2 (W 3 4 B)12. 48
5[0 7] 165 &8 k2 ( ) 12. 74
6[ 5] 31375 M FEYR2 (5 #H 4)13.33
70 6] 305/ #k  FE 5E2 (48 %)14.05
8[ 3] TUIE BEH20s ¥ JI)14.36

[ 6]

( 0.8 m)

21874 ¥ s 6 2 (1L M) 11.76
291 [ 2 (i H)12. 36
5T 4 #f 2 (KR )12, 43
15T KzE2 (B 7 %)12.47
2060 (L B2 (+ B2 ™ $)13.19
179 % W02 (E o =)13.65
1Rk HE2E A H)14.87
31Tk e 2 (F W »iE
( +1.0 m)

20471 W T K 2 (F 1) 11.72
205/NHES 2= A 2 (+ B T $3)12. 08
30970 HH ¥ BB 2 (R £)12. 31
790 B Rk B 2 (5 T)12. 44
231 T B2 GF & I#%)12.45
1R Kik2 ((F W mM)13.39
6974 4 & A 2 OK H) R 15
18452 (L BG 2 OK ) R 35



[5#8] (  +0.1 m)
107] 1968 2 vEZF2 ( N12.12
2[ 8] 33w k2 (B H)12. 31
3L 1] MTANR KF2 Oy By A J7)12.35
4 4] 9B HE I 2 (5F F£)12. 36
50 3] 261K & JnyR2 (F %)13. 05
6[ 6] 311/ Ak2(C J )13.17
[ 211001 %% B & K 2 (FF KM Ri5
[ 5] 183ii it W F2 (K i) R 35
[7#8) (  +1.1 m)
10 3] 1435k M2 (  #&  )12.20
20 2] 293/ & B2 (P Fn H)12.22
3[ 1] 1070 M cRFIk2 (B - %) 12.46
AL 7] 1457 & & A 2 (4 k) 12. 56
5[ 6] 3EM/ BAE2 (E )12, 67
6[ 8] 283<F BEKER 2 (78 A 45)12.94
10 5]1027%# fig & n2 (% #$)13. 08
8[ 4] 755 )1l #E K2 (¥ ) 13.26
[9#8] (  +1.8 m)
101] 294/ 3 B K2 (b Fn H)11.66
2[ 6] 263m7 T weFH2 (0% i) 12. 09
3[ 4] 99w H #E2 (R £ 7 1213
41 3] 2413 £ w12 (F JIN12. 46
50 2] 914k H2 0L b H)12.58
6[ 7] 2551  f& ME2 (B HN12. 7
70 5] 12975 ji 4 = 2 (A2 K)13.08
[ 8] 31ZHJ#E =462 (8 ) Ri5
[11%8) (  +0.5 m)
107] 61pn@E FlZE2 (F #)11. 62
2[ 4] 2568 R B2 0S5 A £5)11.88
3[ 6] 239 A HB2 (B ik B)12.22
AL 5] 5% W A2 R )12, 31
5[ 3] 211/hH BREC 2 (Bk %#£)12. 36
6[ 8] 43 £ ZF ik2 (G5 FH JF)12.49
10 2] 13IA L R 2 (5 15)12.52
8[ 1] 198%& B ZEH#H2 (& H)13.30
[1348) ( 0.0 m)
103] 1194 g K2 (v & 2% [1)12.06
2[ 5]1037 L B 2 Gk A = ®E)12.25
3[ 2] 26TH K2 KAR 2 (4 7)) 12. 90
40 6] 217 76 #F =+ 2 (1L M) 13. 10
5[ 8] 2474 K BEk 2 (B H)13.12
6 7] 27195 1 E K2 (L )13.15
[ 4] 307HAF T7x7 2 (k& ) Ri5%
[15%8) (  +0.3 m)
106] 21N IEE20H B [)12.06
2[ 8] 2TPFJ @A 2 (b & JID12.12
3[03] 295 & F+2 (R 2 {£)12.18
4[ 4] 253m ¥ HB &2 G b m)13.01
5[ 7] 23%F 2 EiA2 (GE H 44)13.78

[ 21200177 #%&

[ 5] 24615 [ A BX 2 (f

I

3L 2 (HappinessAC) R 15

9) Ri5

[6#8] (  +0.8 m)

1[0 5] 12736 H B +2 (& fE)12. 23
20 7] 245/ AF2 (B I FE)12.41
3[ 8] 62fH W 3 3} 2 (OF 2)12. 44
4 4] 63E H 5 HE 2 (i H)12. 80
5[0 6] 203/ +] H 2 (H 12. 83
6[ 3]1005(L F f& 4L 2 (B & /< J#i)13.49
70 1] 2993% 8 M &2 (= X H)13.63
8[ 2] 223 ot HE & 2 (B 7= \F £)14.23
(8% (  +0.4 m)

106] 1R & #k2(h $3)12.20
20 1] 67pk B &2 (f-FE A E)12.20
3L 7] 2010 W MR A2 (B - W £9)12.55
4[ 3] 185/& 37 [ETE2 (1% J5)12. 69
50 411013 B /& K2 (i % 5 [#)12. 89

6[ 8] 2495 1 1 3k 2 (I F1)12. 94
70 211031 %% H B5 =F 2 (B2 O 7% Be)13.05

8[ 6] b51gn A EH A2 (K E)13.10
[10%8]) ( +1.1 m)

1[ 2]2005° K35 P42 (N S A A)11.76
2[ 5] 262FEEH K& K2 (F £)12.09
3[ 3] 303% i ##H2 (K R)12.24
4[ 4] 155K FRAR 2 U1 H)12.60

5[ 8]1009 (L A& == #i2 (H K)12.94
60 7] 213970 fEREA 2 GR B &) 13.16

[ 1] 1475 KKE2 W A BRI

[ 6] 1815 )1 MLA2((H & BRES
[1248]) ( +1.9 m)

10 6] 229/ % M 3} 2 (& E)12.18
2[ 7] 259F B vE A2 (K 1E)12.39
3[ 8] TIHEE BiA2 (B Kk 4)12.69
40 3] 954 HE K2 (Fd & M JE)12. 88
5[ 511003 KJIN BHE 2 (B # = Be)13.06

6[ 4] 1238 0 K A2 (K ¥ 11)13.46

[ 2] 9Tk R # 32 Ca ) R 355
(1448] ¢ +0.5 m)

104 17955 F a2 Gir H)12.03
2[ 8] 3" #E2 G# H)12.27
3[ 3] 89fEAM 2 (H ¥ )12.54

40 6] 83E AR EHk2 M & —)12.67
507] 298 & w2 (R AK)12. 68
6 2] 139/ #6 H th2 (E A 8 46)12.90
7051 1TTR % B K2 (O %5)13.13

0> AN
iy 9

1 6By FlZ=2 (OF #)11.62 +0.5
2 294k A K2 (h  Fn H)11.66 +1.8
3 1010 BE B2 (& H)11.69 +0.4
4 2047008 ML oK 2 (H N11.72 +1.0
52005k ¥ Bt 2 (N A A)11.76 +1.1
6 21878 i sz th 2 (U M)11.76 +0.8
7 258 MR E20N f4  £8)11.88 +0.5
8 104fK &8 i F2 (7 45)11.88 +2.2



iR B
(

1[ 6]
2[ 3]
3[ 4]

41 7]2005°K &5

5[ 5]
6 2]
70 8]
8[ 1]

+0.5 m)

610 Al 222 (OF

2944 - E K2 (b Fn

10100 i BE ff 2 (&

20470 Mg T ok 2 (p
21876 i 5% 46 2 (1L
260 R B2 (N
1046k % ¥ 2 (W

gii

%) 11. 60
H)11.66
H)11.68

P2 (NS A A)11.70

Hn11. 7
M)11.89
%) 11.96
£)12.06

BF 3F100m FEATHE2 M LL—X)

(18]
1[0 5]
2[ 4]
3[ 3]
4[ 6]
5[ 2]
60 7]
[ 1]
[ 8]

(348]
101]

( +0.1 m)

334y h AV 47y 3 (F
24375 H W3 G
246rF  — WA 3 (f
95 6 &3 (M
157% & K3 (&
159 8 & &3 (N

27 & ‘B3 Gh
241/ Ak B {52 3 (p
( -0.1 m)

10fE ¥H k3 (|

2[ 8]1009¢% A KX 3 (H

3[ 4]
4 6]
50 7]
6[ 5]
[ 2]
[ 3]
[548)
1[ 8]
2[ 2]
3[ 1]
41 7]
5[ 6]
6[ 3]
70 4]
8[ 5]

(7#8]
1[ 5]
2[ 3]
3[ 1]
41 4]
5[ 2]
6[ 6]
[ 7]
[ 8]

14522 B B [l 3 ([

H)11.08

7 M) 11,73

J

79)12. 02

e B JE) 12,34

#O13.15
) 13. 22
) Ri5
) Rz

)11.29
K)11.85
£)12. 36

83FE A B3 (A —)12.51

3034 H A 3 (&

12,70

251k ] MK E 3 (IF W F§)12.82
674 ¥H i & 3 (- 2N ) Rig

185 M fil 3 (1% J5) R 15
( +0.2 m)

245 FkER3 G & [m)11.43
2145 3 ZE A3 (24 JID11.99
69°F Ak B BE 3 Ok H)12.04
183uh Bk =3k 3 (K fi)12.19

2239 1 N3 (B T2 1 15)12.54

265¢n A KRk 3 (B

H)12.87

301/K P& 1 K3 (W 9" 7 #)13.06

1014 B 1% 3F 3 (&
( +1.7 m)

H)13.16

254K fi] &3 GR 11 H)11.66

1870 A o th 3 (g
1655 )il K3 (&
51/hBF A WRE 3 (K
29% 5 KAE3 (a
31 L H B K3 (8
19554 M A3 (F
245 KR B4 3 (h

J

B 11.77
i) 11. 92
55)12.48
A)12.52
7)12.83
) R 15
) Ri5

(28]
11 3]
2[ 4]
3[ 1]
4[ 5]
50 6]
[ 2]

( +0.7 m)

24798 )11 K 3 (B H)11.12
1555 IR s = 3 () H)12.12
307 = VA B AE 3 Gk =) 12. 33
SNE A 33 ( Ji )12.50

199 H %3 (YSF JH)13.04
197k JF #r3 (i PIRG

[ 7] 20070 | Fin 5 3 (H ) R 15
[ 8] 279 & B3 (L i) R 35
[448] ( +0.5 m)

105] 61FEH K& K3(CF 2)11. 06
2[ 111013— M 1 % 3 (fil #& = [5)12.15
3[ 8] 1411 H 3 (R )12.19
4 2] 309K A H B3 (WA )12 48
5[0 7110373 M A% B 3 (f K %% &) 13.02
6[ 6] 131/h R &3 (& 75)13.18
[ 3] 7188 K B K3 (E Xk BRI
[ 4] 215/ 1B  # 3 (+f 1) &35
[6%H] ( +0.7 m)

1[5] 263H & 433 (% ) 11. 75
2[ 6] 211Kk & B3 (K %) 11. 94
3[ 2] 26k & E30S 1 18)12.26

41 711005%5 il W RF 3 (B 3R 7N D 12.79

5[ 8]
6 4]
[ 1]
[ 3]
(8#H]
1[ 4]
2[ 6]
3L 7]
4[ 1]
5[ 2]
6[ 8]
[ 5]
[ 3]

287 =& ®H M3 JII 78)12.82
3H & ¥ 3 ) 13. 89
216 & Iy i K 3 (B 1) &35
1T# L & K3(E o B)RXRS
( 0.0 m)

1TFH gz 3 %) 11.54
151HfEH FERER 3 (P 3¢ & —)12.01
91 — ) Wi K3 L 1 H)12.46
26155 7k =3 (7 5%)12. 91
9EMH AB3I G - PE)13.12
258 KU KRR 3 (B [ [)14.25
25075 52 K3 (I ) 7585
09#fE ¥ Ik K3 (R = 7 B RIG



[9#8] (  -0.3 m)

1065] 268 A HEHE3OS £ 1#%)11.80
20 7] 222K K K¥ES (F E H)11.82
3[ 1] 1814fAS Rz 3 (H & H)11.95
4L 2] 10K B3 (5 F2)12. 43
50 3] 63%F st & K3 (i H)12. 67
6[ 6] 34KHIE WER3 (E H)12. 82
70 8] 283% W K03 (78 A 4)12.98
8[ 4] 201m7 H f5KE3 (H& - H 22)14.90
[11%8) (  +0.5 m)

103] 1881 M & K3 (i mT)11. 37
2[ 8] 9600 4% 1E &F 3 (B = Bt JE)11. 61
3[ 4] 262F% &5 Hi3 (F %)11.97
41 5] 169/ = K3 (Il 4 R)12.29
5[ 6] 203#f it Fn & 3 (Hf (1)12.75
6[ 1] 267¢h & == 47 3 (4 W) 12. 94
70 2] 291%F H BE K 3 (] H13.12
[ 711033387 4 1% 3 (& 3T [H ) Ri5
[1348) ( 0.0 m)

10 5] 12794F F2KER 3 (k& fE)11. 34
20 1] T B A3 (5F J2)11.52
3[ 4] 1930 fig - 23 (& fH)12.03
4 3] 143T i BE#L3 (1 % )12.07
507) MM KR &30S > JIN12.84
6 8]1023 3 FHARS 3 (5 A KfH)E)13.07
70 2] T15F % RE3 ) 13.75
[ 6] 1M99L 6 #E 223 (7 ¥ A b)) RiG
[15%8) (  +0.3 m)

10 2] 282 H & A3 (fE £)11.99
2[ 3] 55Mh E FHMES (P B H)12.19
3[ 5] 17T F # K223 O #)12.19
4L 6] NI A& 983 OF B 2% J7)12. 60
5[ 8] 13113 KER3 (& #)13.50
6[ 7] 10778 ik B I3 (I %) 13. 95
[ 1] 2097% H % =k 3 (= - k23 ) Ri5
[ 4] 2993 A ¥ 3 (£ B H) RIS
[1748) (  +0.5 m)

105] 9745 WH Ml K3 Ca %) 11. 51
2[ 6] 2445 W3 G & IF)11.56
3[ 8] 2051 H ®L=+3 (+ H ™ #)12.23
41 3]1003 T jE 4 K3 (B 3 %~ [%)12.36
5[ 2] 253t % M X3 CE b m)12.77
[ 4] 89& W EA3(H B HRKRG
[ 7] 210%) ## 223 (-2 o) RiG

[1048] (  +0.6 m)

103] 48A A3 W
2[ 6]1027 2 FHRAR 3 (%
3[ 8] 355 JII 3 (&
41 4] 2291 ik H R 3 (&

50 7] 2684 H

6 2] 10345 K
70 5] 123 | 5
[ 1] 58 K
(1248] ( +
10 2] 249 F &
2[ 8] 2575 i
3[ 4] 255% i
A1 7] T8 ER
5[ 6] 20445 K
6[ 11 21)Il E
70 51 147/N #&
8[ 3110315 =

(14%8]) (
1[ 4]
2[ 1]
3[ 8]
41 7]
5[0 5]
6[ 6]
70 2] 133% &
[ 3] 23[n] B

(16481 (

9K B
259 & 1

115 34

+0.

+0.

3 ¢
& {3 (7
B H 3 (2
K3 CR

.0 m)

X E 3 (I
B A3 G
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B 73 (k
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& N3 (K

3057 VA=A b £ 3 (fH
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i H 3 OR

=

ol Em
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#)11.70
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£)12.54
[11)13. 56
) Ri5

) 11.75
ikF)11.93
11,97
12,45
1) 12. 50
)12, 67
7)13.02
Fe)13. 39

4

JE)11. 61
E)11.79
%)12.00
Z)12. 21

2394 [l 13 (b 2> 42 B)12.83
M5t WM HEIE3S # ~ %)13.00

f8)13. 54

BRfE3 G M BIRG

8 m)

1[0 811001 A J K 1 3 (P RBfHAEIE) 11. 67
2[ 5] 17971 BEKEA 3 CGor
75 B 3 (HappinessAC)12. 11
T B 3 (b F % Be)12. 23

3[ 3]20013% 1%
41 611015/~ f,
5[ 2] 1994 T+
6[ 4] 81 &
70 71 1610 H

D AN
ey 3

1 61F

JE Gk 3 (L

H)11.70

)12, 34

FnE3 (M6 B B —)12.55

B A3 (R

&R 3 (F

2 33A)yb iy 3 CF

3 2474 )11
4 310f% W

K 3 (KD

3 (M

5 1279 4F 52 KER 3 (U
6 1881 H & K3 (H

7 225 FkES 3 (i

8 4B A HES3 G

18)13.10

H)11.
F)1T.
H)11.
11,
JE)11.
HT)11.
) 11.
DR

06 +0.5
08 +0.1
12 +0.7
29 0.1
34 0.0
37 +0.5
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